[Roll Number

Candidate Name

Test Center Name

Test Date 17/06/2022

Test Time 12:45 PM - 2:15 PM
Subject Level 3

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

2. Chosen option on the right of the question indicates the option selected by the candidate.

Section : NTPC

QA1

Ans 1.

3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352328
1151359309
1151359312
1151359310
1151359311
Not Answered

Q.2

Ans 1. —1]

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

115135447

1151351786
1151351785
1151351788
1151351787

: Answered
Chosen Option :

4




Q.3

Ans

« 1. 20cm
2. 8&cm
3. 30cm
4. 50cm
Question ID : 115135467
Option 1 ID : 1151351868
Option 2 ID : 1151351867
Option 3 ID : 1151351866
Option 4 ID : 1151351865
Status : Answered
Chosen Option : 1
Q.4
Ans 1.
2.
" 3.
4.
Question ID : 115135468
Option 1 ID : 1151351870
Option 2 ID : 1151351871
Option 3 ID : 1151351869
Option 4 ID : 1151351872
Status : Answered
Chosen Option : 3
Q.5
Ans 1.
2.
3.
W 4.
Question ID : 1151352315
Option 1 ID : 1151359260
Option 2 ID : 1151359258
Option 3 ID : 1151359257
Option 4 ID : 1151359259
Status : Answered
Chosen Option : 3




Q.6

Ans 1.

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :

Chosen Option

: 115135462
1151351846
: 1151351847
1151351845
1 1151351848
Answered
03

Q.7
Ans 1.

& 3

Question ID :

Option 1 ID
Option 3 ID

Status
Chosen Option :

1151352335

: 1151359337
Option 21D :

1151359340

1 1151359339
Option 4 ID :

1151359338

: Answered

3

Q.8

Ans 1.

& 3

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option

1 1151352297

1151359186

: 1151359188

1151359187

: 1151359185

Answered

03




Q.9

Ans 1.
o 2.
3.
4.
Question ID : 1151352327
Option 1 ID : 1151359308
Option 2 ID : 1151359306
Option 3 ID : 1151359307
Option 4 ID : 1151359305
Status : Answered
Chosen Option : 2
Q.10
Ans o 1.
2.
3.
4.
Question ID : 1151352324
Option 1 ID : 1151359295
Option 2 ID : 1151359296
Option 3 ID : 1151359293
Option 4 ID : 1151359294
Status : Not Answered
Chosen Option : --
Q.11
Ans 1.
2.
3.
o 4.

Question ID

Option 4 ID

: 1151352004
Option 11D :
Option 21D :
Option 31D :

1151358014
1151358013
1151358015

: 1151358016
Status :
Chosen Option :

Answered
4




Q.12

Ans 1.

Question ID

Option 11D :

Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 1151352301
1151359203
1 1151359204
1151359201
1151359202
Not Answered

Q.13
Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352320
1151359279
1151359277
1151359280
1151359278
Answered

3

Q.14
Ans 1.

2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

1151352288
1151359152
1151359149
1151359150
1151359151
Not Answered




Q.15

Ans o 1
2.
3.
4.
Question ID : 115135456
Option 1 ID : 1151351823
Option 2 ID : 1151351824
Option 3 ID : 1151351821
Option 4 ID : 1151351822
Status : Answered
Chosen Option : 1
Q.16
Ans g1
2.
3.
4.
Question ID : 1151352002
Option 1 ID : 1151358008
Option 2 ID : 1151358007
Option 3 ID : 1151358006
Option 4 ID : 1151358005
Status : Answered
Chosen Option : 1
Q.17
Ans 1.
2.
3.
o 4.
Question ID : 1151352331
Option 1 ID : 1151359323
Option 2 ID : 1151359322
Option 3 ID : 1151359321
Option 4 ID : 1151359324
Status : Answered
Chosen Option : 4




Q.18  When 4230, 5986 and 9059 are divided by the greatest number m, the remainder in each case is n. What is the

value of (m —n)?

Ans 1.
2.
3.
4.
Question ID : 115135459
Option 1 ID : 1151351836
Option 2 ID : 1151351834
Option 3 ID : 1151351833
Option 4 ID : 1151351835
. Not Attempted and
Status * parked For Review
Chosen Option : --
Q.19
Ans 1
o 2.
3.
4.
Question ID : 1151352287
Option 1 ID : 1151359148
Option 2 ID : 1151359147
Option 3 ID : 1151359146
Option 4 ID : 1151359145
Status : Not Answered
Chosen Option : --
Q.20
Ans
1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135454
1151351814
1151351813
1151351815
1151351816
Answered

2




Q.21

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option

1151351996
1151357983
1151357982
1151357984
1151357981
Answered
12

Q.22

Ans

& 3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135457
1151351828
1151351825
1151351827
1151351826
Answered

3

Q.23

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

1151351997
1151357985
1151357986
1151357987
1151357988
Answered

Chosen Option : 4




Q.24

Ans
1.
2=
63
3.
4,
42
Question ID : 115135465
Option 1 ID : 1151351860
Option 2 ID : 1151351858
Option 3 ID : 1151351857
Option 4 ID : 1151351859
Status : Answered
Chosen Option : 2
Q.25
Ans 1.
2.
3.
o 4.
Question ID : 1151352318
Option 1 ID : 1151359272
Option 2 ID : 1151359270
Option 3 ID : 1151359269
Option 4 ID : 1151359271
Status : Answered
Chosen Option : 4
Q.26
Ans o 1.
2.
3.
4.
Question ID : 115135472
Option 1 ID : 1151351888
Option 2 ID : 1151351886
Option 3 ID : 1151351885
Option 4 ID : 1151351887
Status : Answered

Chosen Option :

1




Q.27

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352290
1151359159
1151359160
1151359157
1151359158
Not Answered

Q.28

Ans 1.

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

: 1151352016
1151358063
1 1151358064
1151358061

1 1151358062
Status :
Chosen Option :

Answered
3

Q.29

Ans 1.

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status :

Chosen Option

1151352007

: 1151358025

1151358028

: 1151358026

1151358027
Answered

14




Q.30

Ans o 1.
2.
3.
4.
Question ID : 1151352308
Option 1 ID : 1151359231
Option 2 ID : 1151359230
Option 3 ID : 1151359229
Option 4 ID : 1151359232
Status : Answered
Chosen Option : 1
Q.31
Ans 1.
2.
3. 28
o 4.
Question ID : 1151352296
Option 1 ID : 1151359183
Option 2 ID : 1151359184
Option 3 ID : 1151359181
Option 4 ID : 1151359182
Status : Answered
Chosen Option : 4
Q.32
Ans o 1
2.
3.
4.
Question ID : 1151352323
Option 1 ID : 1151359290
Option 2 ID : 1151359289
Option 3 ID : 1151359292
Option 4 ID : 1151359291
Status : Answered

Chosen Option :

1




Q.33
Ans 1.

¢ 3.

Question ID : 1151352322
Option 1 ID : 1151359286
Option 2 ID : 1151359288
Option 3 ID : 1151359287
Option 4 ID : 1151359285
Status : Answered
Chosen Option : 1

Q.34 A student walks from his house at 2.5 km/hour and reaches his school 6 minutes after school time. Next day he
increases his speed by 1 km/hour and reaches his school 6 minutes before school time. How far is the school from

his house?
Ans 1.
o 2.
3.
4.
Question ID : 115135452
Option 1 ID : 1151351805
Option 2 ID : 1151351808
Option 3 ID : 1151351806
Option 4 ID : 1151351807
Status : Answered
Chosen Option : 2
Q.35
Ans 1.
o 2.
3.
4.

Question ID : 115135480
Option 1 ID : 1151351919
Option 2 ID : 1151351918
Option 3 ID : 1151351917
Option 4 ID : 1151351920
Status : Answered
Chosen Option : 2




Q.36

Ans 1.
o 2.
3. 75
4.
Question ID : 1151352017
Option 1 ID : 1151358068
Option 2 ID : 1151358065
Option 3 ID : 1151358066
Option 4 ID : 1151358067
Status : Answered
Chosen Option : 2
Q.37
Ans &1
2.
3.
4.
Question ID : 1151352009
Option 1 ID : 1151358035
Option 2 ID : 1151358033
Option 3 ID : 1151358034
Option 4 ID : 1151358036
Status : Answered
Chosen Option : 1
Q.38
Ans 1. 4
2. 6
3. 7
4 5

Question ID : 1151352311
Option 1 ID : 1151359243
Option 2 ID : 1151359242
Option 3 ID : 1151359244
Option 4 ID : 1151359241
Status : Answered
Chosen Option : 1




Q.39

Ans

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

1151352000
1 1151358000
1151357997
1 1151357998
1151357999
Answered

1

Q.40

Ans

Question ID
Option 1 ID
Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 1151352003
1 1151358010
: 1151358011
1151358009
1151358012
Answered

2

Q.41

Ans

o 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352330
1151359318
1151359320
1151359319
1151359317
Answered

2




Q.42

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option

1151352314
1151359254
1151359253
1151359255
1151359256
Answered
12

Q.43

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352329
1151359315
1151359316
1151359314
1151359313
Answered

3

Q.44

Ans 1

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

115135474
1151351893
1151351895
1151351894
1151351896
Answered

Chosen Option : 3




Q.45

Ans 1. 117

2.
3.
4.

Question ID : 1151352005

Option 1 ID : 1151358018

Option 2 ID : 1151358020

Option 3 ID : 1151358019

Option 4 ID : 1151358017

Status : Answered
Chosen Option : 1
Q.46

Ans 1.
o 2.
3.
4.

Question ID : 1151352326

Option 1 ID : 1151359303

Option 2 ID : 1151359301

Option 3 ID : 1151359304

Option 4 ID : 1151359302

Status : Answered
Chosen Option : 4
Q.47

Ans 1.
2.
" 3.
4.

Question ID : 115135455

Option 1 ID : 1151351818
Option 2 ID : 1151351820
Option 3 ID : 1151351819

Option 4 ID :
Status :
Chosen Option :

1151351817
Answered
3




Q.48

Ans 1.
2.
" 3.
4.
Question ID : 1151352312
Option 1 ID : 1151359245
Option 2 ID : 1151359248
Option 3 ID : 1151359246
Option 4 ID : 1151359247
Status : Not Answered
Chosen Option : --
Q.49
Ans 1.
2.
3.
4.
Question ID : 1151351999
Option 1 ID : 1151357996
Option 2 ID : 1151357993
Option 3 ID : 1151357995
Option 4 ID : 1151357994
Status : Answered
Chosen Option : 4
Q.50
Ans 1 0
2. 7
3. 8
4. 5
Question ID : 115135448
Option 1 ID : 1151351792
Option 2 ID : 1151351790
Option 3 ID : 1151351791
Option 4 ID : 1151351789
Status : Answered
Chosen Option : 3




Q.51

Ans g1,
2.
3.
4.
Question ID : 1151352026
Option 1 ID : 1151358104
Option 2 ID : 1151358101
Option 3 ID : 1151358102
Option 4 ID : 1151358103
Status : Answered
Chosen Option : 1
Q.52
Ans g1,
2.
3.
4.
Question ID : 1151352027
Option 1 ID : 1151358108
Option 2 ID : 1151358105
Option 3 ID : 1151358107
Option 4 ID : 1151358106
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.53
Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

1151352028
1151358111
1151358112
1151358110

1 1151358109
Status :
Chosen Option :

Answered
3




Q.54

Ans

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :
Chosen Option :

1151352001
1 1151358004
1 1151358002
1 1151358003
: 1151358001
Answered

2

Q.55

Ans

3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352313
1151359249
1151359251
1151359252
1151359250
Answered

3

Q.56

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

115135461
1151351842
1151351844
1151351843
1151351841
Answered

Chosen Option : 4




Q.57 The central board of the Reserve Bank of India can have a maximum of full time

Deputy Governors at any given time.

Ans s 1 4
2.2
35
4. 3
Question ID : 1151352317
Option 1 ID : 1151359267
Option 2 ID : 1151359265
Option 3 ID : 1151359268
Option 4 ID : 1151359266
Status : Answered
Chosen Option : 1
Q.58
Ans 1.
2.
o 3.
4.
Question ID : 1151352300
Option 1 ID : 1151359199
Option 2 ID : 1151359200
Option 3 ID : 1151359198
Option 4 ID : 1151359197
Status : Answered
Chosen Option : 2
Q.59
Ans 1
2. 8
3. 9
4. G
Question ID : 115135466
Option 1 ID : 1151351862
Option 2 ID : 1151351863
Option 3 ID : 1151351864
Option 4 ID : 1151351861
Status : Answered
Chosen Option : 1




Q.60

Ans

4

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :
Chosen Option :

: 115135476
1151351904
: 1151351902
1151351903
: 1151351901
Answered
4

Q.61

Ans

3.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135469
1151351873
1151351875
1151351876
1151351874
Answered

3

Q.62

Ans

& 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

115135458
1151351831
1151351832
1151351830
1151351829
Answered

Chosen Option : 1




Q.63

Ans 1. 4
25
33
4.6
Question ID : 1151351998
Option 1 ID : 1151357990
Option 2 ID : 1151357991
Option 3 ID : 1151357989
Option 4 ID : 1151357992
Status : Answered
Chosen Option : 2
Q.64
Ans 1.
2.
3.
W 4.
Question ID : 1151352295
Option 1 ID : 1151359178
Option 2 ID : 1151359179
Option 3 ID : 1151359177
Option 4 ID : 1151359180
Status : Answered
Chosen Option : 4
Q.65
Ans 1.
o 2.
3.
4.

Question ID : 1151352305
Option 1 ID : 1151359218
Option 2 ID : 1151359217
Option 3 ID : 1151359219
Option 4 ID : 1151359220
Status : Answered
Chosen Option : 4




Q.66

Ans 1. 11
o 2.
3. 13
4. 12
Question ID : 1151352013
Option 1 ID : 1151358051
Option 2 ID : 1151358052
Option 3 ID : 1151358049
Option 4 ID : 1151358050
Status : Answered
Chosen Option : 2
Q.67 Two children A and B have some toffees. If A has 8 toffees, and B has one toffee more than 50% of the total
toffees with them, then how many toffees does B have?
Ans g1,
2.
3.
4.
Question ID : 115135471
Option 1 ID : 1151351881
Option 2 ID : 1151351882
Option 3 ID : 1151351884
Option 4 ID : 1151351883
Status : Answered
Chosen Option : 1
Q.68
Ans
1.
2.
o3 3
4
4.
Question ID : 115135478
Option 1 ID : 1151351909
Option 2 ID : 1151351912
Option 3 ID : 1151351911
Option 4 ID : 1151351910
Status : Answered
Chosen Option : 3




Q.69

Ans 1.
2.
3. F7
W 4
Question ID : 1151352334
Option 1 ID : 1151359333
Option 2 ID : 1151359334
Option 3 ID : 1151359336
Option 4 ID : 1151359335
Status : Answered
Chosen Option : 3
Q.70
Ans o 1.
2.
3.
4.
Question ID : 1151352310
Option 1 ID : 1151359237
Option 2 ID : 1151359239
Option 3 ID : 1151359240
Option 4 ID : 1151359238
Status : Not Answered
Chosen Option : --
Q.71
Ans &1
2.
3.
4.

Question ID :

Option 11D

Status

1151352023

: 1151358091
Option 2 ID :
Option 31D :
Option 4 ID :

1151358090
1151358089
1151358092

: Answered
Chosen Option :

1




Q.72

Ans o1
2.
3.
4.
Question ID : 1151352024
Option 1 1D : 1151358095
Option 2 ID : 1151358094
Option 3 ID : 1151358093
Option 4 ID : 1151358096
Status : Answered
Chosen Option : 1
Q73 In a seven-storeyed building, having floors numbered from 1 to 7, A, B, C, D, E, and F each live
on a different floor. The ground floor is numbered floor number 1, the floor above it is floor
number 2 and so on. One of the floors in the building is vacant. B lives on the floor no.6. No floor
below the floor no. 3 is vacant; and no odd numbered floor is vacant. Only B lives between the
floors of A and F. Only one person lives between E and D. Only two people live between C and
F. C lives on one of the floors below F. More than one person lives between D and B. Which of
the following floor numbers is vacant?
Ans s 1 4
2.7
3. 6
4.5
Question ID : 1151352025
Option 1 1D : 1151358099
Option 2 ID : 1151358098
Option 3 ID : 1151358097
Option 4 ID : 1151358100
Status : Answered
Chosen Option : 1




Q.74

Ans 1.

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

1 1151352008
1151358032
1 1151358031
1151358030

1 1151358029
Status :
Chosen Option :

Answered
4

Q.75
Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352325
1151359297
1151359300
1151359299
1151359298
Answered

2

Q.76

Ans 1. —d

2. 3
&3 =3
4. 4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135449
1151351796
1151351794
1151351793
1151351795
Answered

3




Q.77
Ans 1.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

115135479
1 1151351913
1151351914
1 1151351916
1151351915
: Answered
2

Q.78

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135453
1151351811
1151351809
1151351812
1151351810
Answered
4

Q.79

Ans 1. 8

2.3
V36
4. 12

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135460
1151351837
1151351840
1151351838
1151351839
Answered

3




Q.80

Ans 1.

Question ID
Option 1 ID

Option 21D :

Option 3 1D

Option 4 ID :

Status
Chosen Option

: 1151352306
: 1151359222
1151359221
: 1151359223
1151359224
: Answered
03

Q.81

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135477
1151351908
1151351907
1151351906
1151351905
Answered

3

Q.82

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

115135473
1151351890
1151351892
1151351891
1151351889
Answered

Chosen Option : 3




Q.83

Ans 1.
o 2.
3.
4,
Question ID : 1151352294
Option 1 1D : 1151359176
Option 2 ID : 1151359175
Option 3 ID : 1151359173
Option 4 ID : 1151359174
Status : Answered
Chosen Option : 2
Q84 Find the compound interest on 2000 at 10% p.a. for 2 years, compounded annually.
Ans 1.
o 2.
3.
4.
Question ID : 115135450
Option 1 ID : 1151351797
Option 2 ID : 1151351799
Option 3 ID : 1151351800
Option 4 ID : 1151351798
Status : Answered
Chosen Option : 2
Q.85
Ans &1
2.
3.
4.
Question ID : 1151352286
Option 1 ID : 1151359141
Option 2 ID : 1151359142
Option 3 ID : 1151359143
Option 4 ID : 1151359144
Status : Answered
Chosen Option : 1




Q.86

Ans

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID

Option 4 ID :

Status

Chosen Option :

1151352316
: 1151359264
: 1151359261
: 1151359263
1151359262
: Not Answered

Q.87

Ans

Question ID
Option 2 ID
Option 4 ID

Chosen Option

1 1151352291
Option 11D :

1151359163

1 1151359161
Option 31D :

1151359162

: 1151359164
Status :
03

Answered

Q.88

Ans

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 1151352015

1151358058

: 1151358057

1151358059

: 1151358060

Answered
4




Q.89

Ans 1.

&2

Question ID :
Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :

Chosen Option

1151352010
1151358038
: 1151358039
1151358040
: 1151358037
Answered
12

Q.90

Ans 1.

3.

Question ID

Option 2 ID

Option 4 ID

1 1151352021
Option 11D :

1151358083

: 1151358084
Option 31D :

1151358082

: 1151358081
Status :
Chosen Option :

Answered
3

Q.91

Ans 1.

v

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1 115135470

1151351880

1 1151351879

1151351877

1 1151351878

Answered
4




Q.92

Ans

2.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352029
1151358115
1151358114
1151358116
1151358113
Answered

2

Q.93

Ans

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :

Chosen Option :

1 1151352299

1151359193
1151359196
1151359194

1 1151359195

Answered
1

Q.94

Ans

35 B

=}

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :

Chosen Option :

1 1151352019

1151358073
1151358076
1151358074

: 1151358075

Answered
2




Q.95

Ans 1.
o 2.
3.
4.
Question ID : 1151352298
Option 1 ID : 1151359192
Option 2 ID : 1151359191
Option 3 ID : 1151359189
Option 4 ID : 1151359190
Status : Answered
Chosen Option : 2
Q.96
Ans 1.
2.
" 3.
4.
Question ID : 1151352293
Option 1 ID : 1151359172
Option 2 ID : 1151359169
Option 3 ID : 1151359171
Option 4 ID : 1151359170
Status : Answered
Chosen Option : 3
Q.97
Ans v
2.
3.
4.

Question ID : 1151352011
Option 1 ID : 1151358043
Option 2 ID : 1151358044
Option 3 ID : 1151358042
Option 4 ID : 1151358041
Status : Answered
Chosen Option : 1




Q.98

Ans

1.

Question ID :

Option 1 ID

Option 3 ID

Status

1151352289

: 1151359153
Option 21D :

1151359156

: 1151359154
Option 4 ID :

1151359155

: Not Answered
Chosen Option :

Q.99

Ans
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Question ID :
Option 11D :
Option 21D :

Option 3 ID

Status

1151352012
1151358048
1151358047

: 1151358046
Option 4 ID :

1151358045

: Answered
Chosen Option :

2
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Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
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Chosen Option :

1 1151352307

1151359228
1151359226
1151359227
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3.
4.
Question ID : 1151352319
Option 1 ID : 1151359273
Option 2 ID : 1151359274
Option 3 ID : 1151359275
Option 4 ID : 1151359276
Status : Answered
Chosen Option : 2
Q.102 Pipes A and B can fill a tank in 30 hours and 45 hours, respectively while pipe C alone can empty the full tank in 20
hours. When the tank is full, C alone is opened for 8 hours and then closed and pipes A and B are opened together at
the same time. Now, how much time will pipes A and B together take to fill the tank completely?
Ans 1.
2.
3.
o 4.
Question ID : 115135451
Option 1 ID : 1151351802
Option 2 ID : 1151351804
Option 3 ID : 1151351803
Option 4 ID : 1151351801
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Chosen Option : 4
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3.
4.
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Option 4 ID : 1151351855
Status : Answered
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115135463
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Option 31D :
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1151359214
1151359213
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1151352309
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1151359233

1 1151359235
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W 4
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1151359326
1151359325
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1 1151351899
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Option 31D :
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Status :
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1151358078
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Option 11D :
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1151358021
1151358024
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1151352302
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1151359206
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1151358055

: Answered
Chosen Option :

1

Q117

Ans

o 4.

Option 1 ID

Option 3 ID

Status
Chosen Option

Question ID :
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1 1151358071
Option 21D :

1151358069

1 1151358072
Option 4 ID :

1151358070
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Option 11D

Option 3 ID
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Question ID :
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1 1151359332
Option 21D :

1151359329

1 1151359330
Option 4 ID :
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Chosen Option : 1
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Ans
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Question ID : 1151352030
Option 1 ID : 1151358118
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